I n Sta I I ati o n I n St ru ctio n S Please read all instructions before installing.
CR12/G2 BioBlend®-CR12 Wood Chair Rail, With Insert - Material_must be stored, installed and_t{sed in
StOCk Length environmentally controlled conditions.

Importa nt
Install product in environmentally SECTION VIEW
controlled conditions.

2. Acclimate materials 24 hrs before -
installation. Maintain temperature /
controlled environment after installa-
tion. I

3. Installers should be familiar with the /
installation of fine finished wood
products. /

4. Install in accordance with manufac-
turer’s installation instructions. Failure
to do so will void the warranty.

WOOD CHAIR RAIL

INSERT
H H (BASED ON /
Installation tips SPTION) ——
1. Wood is a natural material, therefore .
component color may vary. Sort the [égﬁm]
parts by color (light to dark) before
use. /
2. When storing straight lengths of mate-
rial, lay product flat on supported sur- ]
face. Do not lean the rails or lay them s |
on unsupported parallel saw horses.
/ _
TRIM HEAD SCREW WOOD CHAIR AL
WITH 1/4" PLASTIC / LOCAL CODE
ALLIGATOR ANCHOR
bt T
I 72 A
[19mm]

RECOMMENDED TOOLS
Safety Glasses, Tape Measure, Level, Chal Line, Power Drill, Drill Bits - 1/4” masonry (concrete/con-
crete block), Power nailer, socket or hex drive set, and a Phillips head screwdriver.

IPC.1189/REV.2

Installation Hotline - 866.EZINPRO I PC® PY

Inprocorp.com  800.222.5556 « 262.679.9010 DOOR + WALL PROTECTION SYSTEMS
World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA ADIVISION OF INPRO®



Please read all instructions before installing.

Installation Instructions
CR12/G2 BioBlend®-CR12 Wood Chair Rail, With Insert - Material must be stored, installed and used in

StOCk Length environmentally controlled conditions.

Components

.040" 1/4"x11/4" 1/4"x11/4" FLEX BUMPER
THICKSHEET ~ SMOOTH (V-GROOVE)  BIOPRISM SOLID INSERT
INSERT WOOD INSERT SURFACE INSERT

E

CR12-B CR12-C CR12-D
NORTHERN NORTHERN NORTHERN
HARDWOOD HARDWOOD HARDWOOD
CHAIR RAIL CHAIR RAIL CHAIR RAIL
Fasteners
Wall Condition Specified Fasteners Inpro part #
Gypsum Wall #6 x 2 1/4" Trim Head Screw with Alligator Anchor N/A
Installation Hotline - 866.EZINPRO I PC® PY
Inprocorp.com  800.222.5556 « 262.679.9010 DOOR + WALL PROTECTION SYSTEMS

A DIVISION OF INPRO®

World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA



I n Sta I Iati 0 n I n St ru ctio n S Please read all instructions before installing.
CR12/G2 BioBlend®-CR12 Wood Chair Rail, With Insert - Material must be stored, installed and used in

StOCk Length environmentally controlled conditions.
Layout View
7
— i |—— 3/4"
[19mm] =1
- _
7
=
= DISTANCETO BE
FIELD DIMENSIOIN DETERMINED BY
(TYPICAL ALL WALLS) &l | N INSTALLER (TYP) 4‘<—>
N ; ; Vi
B )
V]
=
—— 4" [102mm] s |
\
¥ ¥ § I MAXFIRST
SCREW LOCATION
\ =] 1 FROMWALL, SPACE
REMAINING HOLES
EVENLY 6 ANCHORS
PER 12' LENGTH -1
EQUAL
SPACING
| o
|
=
EQUAL
SPACING \
g )
] o [102mm]
DISTANCE TO BE
DETERMINED BY
INSTALLER
Installation Hotline - 866.EZINPRO I PC® PY

Inprocorp.com  800.222.5556 « 262.679.9010 DOOR + WALL PROTECTION SYSTEMS
World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA ADIVISION OF INPRO®



Installation Instructions
CR12/G2 BioBlend®-CR12 Wood Chair Rail, With Insert -

Stock Length

Please read all instructions before installing.

Material must be stored, installed and used in
environmentally controlled conditions.

Installation Instructions

FIG. 1

CR12 WOOD CHAIR RAIL
WITH 1/4 X 1 1/4 INSERT
SHOWN

FIG. 2

{ 45° WEDGEY REVERSE MITER CUT 45°

ROTATE WEDGE

90° CLOCKWIS N REVERSE MITER CUT 45°
/ GLUE & PIN-NAIL

i
%

See SHEET 6 for Optional End Conditions

FIG.3

—

135° OUTSIDE CORNER 135° INSIDE CORNER
(TO BE FIELD CUT) (TO BE FIELD CUT)

90° OUTSIDE CORNER
(TO BE FIELD CUT) %
CORNER

90° INSIDE
1-1/4" FINISH NAIL (TO BE FIELD CUT)

FIG. 4

ALLIGATOR

ANCHOR \

=

SPACE REMAINING
HOLES EVENLY

6 ANCHORS X2 14
PER 12" PIECE TRIM HEAD SCREW

4" FROM
EACH END

Note: All boxes and components are marked to coincide
with the floor plan drawings. Layout and identify the com-
ponents needed for each section to be installed. Chair Rails
ship in 8'-16' (2.44m - 4.88m) lengths.

1. Snap a chalk line at the required height. Cut rail to re-

quired length allowing 3/4" (19mm) (19mm) for outside
corners. SEEFIG. 1

2. Inside corners, outside corner and end conditions:

A. End Conditions: to finish an end condition a reverse
miter cut is recommended. Cut a reverse 45° angle on the
rail length. Cut a 45° wedge from a straight rail length.
Glue and pin nail this wedge to the reverse angle on the
rail length. SEE FIG. 2

B. Inside and outside corners: miter cut the rail in the
proper direction. SEE FIG. 3

Inside corners: before mounting them to the wall, join
the two miter cut pieces of rail, apply glue to the mating
surfaces and pin nail the two pieces together with three
1-1/4" finish nails. Wipe off excess glue with damp cloth.
Outside corners: attach one section to wall, (see steps 3
and 4 for installation). Apply glue to the mating surface
and pin nail the two pieces together with three 1-1/4" fin-
ish nails. Wipe off excess glue with damp cloth.

3. Drill 1/8" (3mm) holes in the decorative insert channel for

the fasteners (6 fasteners per 12' (3.04m) length). Include
a countersink so the head of the screw is flush. Position
chair rail on wall. Level and mark hole locations. SEE FIG. 4

4. Drill marked holes on wall using a 1/4" (6mm) drill bit and

position Alligator anchors into holes. Mount chair rail on
wall and tighten screws to secure. Drive the screw so the
head is below the surface of the wood.

NOTE: If drilling into a masonry wall, drill deep enough for a
2-1/4" (57mm) fastener.

NOTE: Join longer sections of rail on the wall with a butt
joint. Install fasteners, 4" (101mm) on either side of the joint.

Installation Hotline - 866.EZINPRO
Inprocorp.com - 800.222.5556 - 262.679.9010
World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA

IPC e

DOOR + WALL PROTECTION SYSTEMS

A DIVISION OF INPRO®



Installation Instructions

Please read all instructions before installing.

CR1 2/G2 BiOBlend®‘CR1 2 WOOd Chair Rail, With Insert = Material must be stored, installed and used in

Stock Length

environmentally controlled conditions.

FIG. 5

FIG. 6
1/4" THICK INSERT

(DECORATIVE V-GROOVES SHOWING)

45° LAP JOINT

!

1/4" THICK INSERT

J—

.

FIG.7
.040 THICK INSERT

=

=

-
\/
—

ADHESIVE BACKING

FIG. 8

MITER/NOTCH BAC
OF BUMPER TO HELP
BUMPER BEND
AT CORNERS

FLEX BUMPER

1!
4

=

—

i

‘k %APPROX. NOTCH FOR SCREW HEAD|

E

\ FLEX BUMPER

5. Fill any holes in the wood with the putty from the touch
up kit. Clean up any wood glue with a damp cloth. Re-
move any surplus materials and debris upon completion
of the installation. SEE FIG. 5

INSTALLATION OF THE 4" THICK INSERT. SEE FIG. 6

Note: Wood Insert can be installed with decorative v-grooves
visible or hidden.

1. Determine the length of the insert. Miter cut inside, out-
side corners and the pieces for returns. If longer lengths
are needed join them with a lap joint.

2. Apply a small amount of PL Premium adhesive in the
channel on the chair rail. Position the insert in the channel
and press in place. Remove any excess adhesive immedi-
ately. Tape the insert in place with painters tape until the
adhesive cures.

INSTALLATION OF THE .040" THICK SHEET INSERT. SEE FIG. 7

1. Determine the length of the insert. Cut inside, outside
corners and the pieces for returns. If longer lengths are
needed join them with a butt joint.

2. Adhere the insert with the factory applied adhesive back-
ing. Remove the release liner position the insert in the
channel and press in place.

INSTALLATION OF THE FLEX BUMPER. SEE FIG. 8

1. Cut Flex Bumper to the required length. Miter cut the back
of the Flex Bumper to help the bumper bend at corners
and returns. Notch bumper to clear fastener.

2. Squeeze a small amount of the instant adhesive into the
bumper slot on the front of the wood wall guard.

3. Work a four-foot area of wall guard at a time since the
glue will set up quickly. Do not allow glue to touch ex-
posed wood surface.

4. Push the bumper into the slot. A rubber mallet may help-
press the bumper into the slot.

Installation Hotline - 866.EZINPRO
Inprocorp.com - 800.222.5556 - 262.679.9010
World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA

IPC e

DOOR + WALL PROTECTION SYSTEMS

A DIVISION OF INPRO®



Please read all instructions before installing.

Installation Instructions
CR12/G2 BioBlend®-CR12 Wood Chair Rail, With Insert - material must be stored, installed and used in

StOCk Length environmentally controlled conditions.

Optional End Conditions

STRAIGHT CUT

CR12 WITH
1/4" X 1 1/4" INSERT

CR12 WITH

CR12 WITH
FLEX BUMPER

.040" INSERT

45° BEVEL

CR12 WITH
.040" INSERT

CR12 WITH
1/4" X 1 1/4" INSERT

—— Kezzzz==d 4 =
7 7
16 16
45° ~~| 45°
Installation Hotline - 866.EZINPRO I PC® PY
Inprocorp.com - 800.222.5556 - 262.679.9010 DOOR + WALL PROTECTION SYSTEMS

A DIVISION OF INPRO®

World Headquarters S80 W18766 Apollo Drive, Muskego, WI 53150 USA



